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K 37 43 80 140 66.0 AH 46 BT Eff 46 47 93 13.0 80.0 91 HE & 48 50 98 13.0 85.0
HFE BE 42 41 83 150 68.0 AH 47  KH Bt 44 45 89 9.0 80.0 92 &K EXE 51 53 104 | 19.0 85.0

SN TFHH IRE 40 37 77 7.0 700 AE BG 48 BBEH kRE 43 46 89 9.0 80.0 93 EEF E— 49 51 100 15.0 85.0

4 BEYEERrE 38 44 82 11.0 71.0 AE 49 FHiL B— 42 47 89 9.0 80.0 94 FH = 46 49 95  10.0 85.0

5  Eyads 44 41 85 13.0 72.0 AE INXxv h345 50 /N\EF FNE 40 46 86 6.0 80.0 9%5 MR & 47 51 98 13.0 85.0

6 MR EF 40 38 78 6.0 72.0 IN*v k35 51 EE X 43 50 93 13.0 80.0 96 IxH I1FEBR 46 51 97  12.0 85.0

7T EHE EE 39 41 80 80 72.0 IN®v k37 52  #aA  CER 50 44 94 | 13.0 81.0 97 KH 51 47 98 | 12.0 86.0

8 TFHBE MHTF 41 46 87 150 72.0 IN®v }385 53 HIK BF 51 47 98 17.0 81.0 98 HME} HAA 45 46 91 50 86.0

9 WwAx B#Eh 42 41 83 100 73.0 54 HME — 49 47 96 150 81.0 9 T&EEH X 46 49 95 9.0 86.0

10 &8 EN 40 41 81 80 73.0 55 HH iF 49 47 96 15.0 81.0 100 B2 E& 44 51 95 9.0 86.0

11 WE E— 41 43 84 11.0 73.0 56 &iE T 48 47 95 140 81.0 101 MWE B2 47 54 101 15.0 86.0

12 &F FH 40 47 87 140 73.0 57 JIM  ELF 48 47 95 140 81.0 102 % BEER 44 53 97 11.0 86.0

13 {&EBE X1F 41 43 84 10.0 74.0 58 it & 44 43 87 6.0 81.0 103 ARH == 46 52 98 11.0 87.0

14 Al JBF 49 42 91 16.0 75.0 59 HWEH 1B 44 45 89 80 81.0 104 By IET 47 53 100 13.0 87.0

15  JRE KEP 45 42 87 12.0 75.0 60 BA i 42 43 85 4.0 81.0 105 f[EE F%E 46 55 101 14.0 87.0

16 /NE ZFF] 41 42 83 80 75.0 61 /NEAKR BARX 46 48 94  13.0 81.0 106 2 MEx 47 48 95 7.0 88.0

17 HH B 36 43 79 40 75.0 62 /NE fRRT 40 42 82 1.0 81.0 107 #F & 48 53 101 13.0 88.0

18 /K Fx 46 40 86 10.0 76.0 63 AH [EA 45 48 93 120 81.0 108 EZXR KX 55 49 104 15.0 89.0

19 AR —& 43 40 83 7.0 76.0 64 FH FHk 42 49 91 10.0 81.0 109 i7Jil EA 52 52 104 15.0 89.0

20 AfREH & 40 40 80 4.0 76.0 65 fBH E 41 49 90 9.0 81.0 110 g B 54 49 103 13.0 90.0

21 M &3 41 41 82 6.0 76.0 66 HME E7F 51 42 93 11.0 82.0 111 B #2F 53 55 108 18.0 90.0

22 AR M= 42 43 85 9.0 76.0 67 AE f#— 49 47 96 140 820 112 AR EHKX 49 55 104 14.0 90.0

23 BH H 42 43 85 9.0 76.0 68 RElF s 48 47 95 13.0 82.0 113 BH XN 46 55 101 11.0 90.0

24 BER FH 42 = 43 85 9.0 76.0 69 H& =i 46 48 94 120 82.0 114 FHik E= 46 56 102 12.0 90.0

25 R#H B 43 48 91 15.0 76.0 70 T RE 44 48 92 | 10.0 82.0 115 KT Bt 50 56 106 15.0 91.0

26  HK 49 41 90 13.0 77.0 71 Bl & 46 51 97 15.0 82.0 116 HA R 44 53 97 6.0 91.0

271 B F™h 47 42 89 12.0 77.0 72 {EFE R 42 50 92 10.0 82.0 117 #3k % 59 48 107 150 92.0

28 L BB 47 44 91 140 770 73 KN & 50 47 97 140 83.0 118 A = 55 55 110 15.0 95.0

29 FH = 41 40 81 4.0 77.0 74 HE FH 48 45 93 10.0 83.0 119 & MA 56 53 109 13.0 96.0

30 ERIE #&# 43 48 91 14.0 77.0 % B fE— 48 49 97  14.0 83.0 120 /AR FE— 57 54 111 14.0 97.0

31 HZE e 45 AT 92 140 78.0 76 =L E3R 45 46 91 80 83.0 121 BR #BX 59 54 113 15.0 98.0

32 %ZH #Mx 45 AT 92 140 78.0 77T HH RIE 46 48 94 110 83.0 122 X% sz 57 53 110 12.0 98.0

33 WE IEK 43 50 93 150 78.0 78 BEE I 46 50 96 13.0 83.0 123 [[UF #®5A 55 62 117 12.0 105.0

34 EEF {@XKER 51 41 92 13.0 79.0 79 JIlE =i 46 51 97 = 14.0 83.0

35 BN B— 46 42 88 9.0 79.0 80 HEE EX 48 44 92 8.0 84.0

36 BEE M 40 41 81 2.0 79.0 81 #H*E EERE 48 44 92 8.0 84.0 wigm 1% AR 46 46 92 | 12.0 80.0 ®i[E [2024.4)

37 FE EB 39 43 82 3.0 790 82 /MK EA 48 46 94 10.0 84.0 awigm MK B 50 47 97 ' 15.0 82.0 ®IE [2024.7]

38 +XF EE 45 49 94 150 79.0 83 KR fFEF 51 51 102 18.0 84.0 awE w4 BARER 44 52 96 8.0 88.0 HiE [2024.7)

39 K¥F =2 44 49 93 140 79.0 84 Il JEL 49 49 98 140 84.0 amE oK)l E— 36 50 86 80 780 NR

40 LI ERLE] 43 49 92 13.0 79.0 85 /NEF [Ex 47 48 95 11.0 84.0 awE =R RX 57 36 93| 140 79.0 NR

41 g = 40 48 88 9.0 79.0 86 HIE REX 50 41 91 6.0 85.0

42 RN BE— 40 51 91 12.0 79.0 87 KA RE 51 45 96 11.0 85.0

43 /P8 RBB 49 44 93 13.0 80.0 88 ®ulL HIi 51 45 96  11.0 85.0

44 KB % 48 43 91 11.0 80.0 89 E&H IEX 51 47 98 13.0 85.0

45  LEH F08 46 44 90 10.0 80.0 90 Ay T|— 48 46 94 9.0 85.0
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